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— ~ Match each term (a-f) with one of the definitions (1-12) that best describes it. (304 * %
85 2)

(a) %% Standard error

(b) ¥4k The alternative hypothesis

(c) A3 —EMH Intemalé consistency

(d) A EHE L% standard error of measurement
(e) & I 43% Typelerror

(f) i®3E4E3% The selection bias

(1) The probability of making a Type I error on any given comparison.

(2) The extent to which tests or procedures assess the same characteristic.

(3) The logical error of falsely rejecting H, when H, is true.

(4) A hypothesis says an independent variable has a significant effect on a dependent
variable. ’

(5) A hypothesis that states there is no significant effect of an independent variable on
a dependent variable.

(6) A systematic error due to a non-random sample of a population.

(7). Subjects respond in ways that they think are appropriate or expected by the
researcher.

(8). Acceptance of H, when H,is false.

(9). Scores are transformed observations that are measured in standard deviation units.

(10). The subset of the sample space that leads to rejection of H,.

(11). An estimate of error to use in interpreting an individual’s test score.

(12). The standard deviation of the sampling distribution of a statistic.
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oostas =1.71

Z-HRETS TR EARERRNESE  ERALREZLZER (58
10 %+ £ 30 o)

1. " /& #4% , (Stratified Sampling) # " 584k ; (Multistage Sampling)

2. Tip#I 978 , (Suppressor Variable) # " & #8 , (Moderator Variable )

3. TR AE | (Content Validity) it "# 4% & ; (Construct Validity )
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